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1. Please determine the magnitude of the resultant force and its direction, measured clockwise

from the positive x axis. (20%)

200N

400 N

2. Please replace the loading by an equivalent resultant force and couple moment at point O.
(the rod structure is in the x-z plane) (20%)

F,= -2i+3j-3k (kN)

F,= 6i-2k (kN)

#F1R 433 7 [HARA]




3. Please draw the shear and moment diagrams for the beam. (20%)
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4. The uniform rod ha a mass of 20 kg and rests on the smooth contact at B and on the ground at A.
If the rod is on the verge of slipping, please determine the coefficient of static fraction between
the rod and the ground. (20%)

5. Please determine the force developed in members FE, EB and BC of the truss and state if these

members are in tension or compression. (20%)
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cos 30° =0.866
cos 45°=0.707
sin 30°=0.5
sin 45°= 0.707
EHAE 0 55 tan? (a/b) Forn > FEEE
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